1. [bookmark: _GoBack]How is the following circuit called and what does it do? Explain its functioning for A=1, B=0, C=1.
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2.  What is the truth table of the following symbol?
[image: ]

	A
	B
	X

	0
	0
	

	0
	1
	

	1
	0
	

	1
	1
	



3. Test if the code “111110001100” is correct, assuming it was created using an even parity Hamming Code.
4. What are the advantages of RAID systems and how are they implemented?
5. Explain the functioning for the following 1-bit ALU coloring the lines having value 1. The values of the lines are A=1, B=1, Carry in=0. Determine the value of F0, F1, INVA, ENA, ENB, Carry out, and Output if you want to add the value of A to the value of B (arithmetically).

[image: ]

6. How does a flip-flow work?
7. What are buses, how do they work? What is bus arbitration? How does it work?
8. Convert 1001101001 in decimal, octal, and hexadecimal.
9. Simplify the expression sing a Karnaugh map.
10. Simplify the expression using a Karnaugh map.
11. Extra point: Simplify the expression  using a Karnaugh map.
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